DIM. TOL.

5mm DOWN +0.2

5~20mm +0.3

20~40mm +0.4

40~60mm +0.5

60~ 100mm +0.8

100mm UP +1.0

REVISIONS

REV

DESCRIPTION

DATE

BY

. D
w K
\4 |
=3
')

PIN A B C D E F P/N A B C D E F
4003AA00 | 6,0 55 1,8 3,8 1,0 M 3x0,5 3121AA00 | 25,0 | 8,5 3,3 6,0 1,4 M 5x0,8
4004AA00 8,0 55 1,8 3,8 1,0 M 3x0,5 3122AA00 | 30,0 8,5 3,3 6,0 1,4 M 5x0,8
4005AA00 | 10,0 55 1,8 3,8 1,0 M 3x0,5 3123AA00 | 35,0 | 8,5 3,3 6,0 1,4 M 5x0,8
3118AA00 | 150 | 5,5 1,8 3,8 1,0 M 3x0,5 3133AA00 | 7,0 10,0 | 4,1 7,0 1,6 M 6x1
3119AA00 | 20,0 5,5 1,8 3,8 1,0 M 3x0,5 3134AA00 | 12,0 (10,0 | 4,1 7,0 1,6 M 6x1
0559AA02 | 6,0 55 1,8 3,8 0,8 M 4x0,7 0530AA00 | 20,0 | 10,0 | 4,1 7,0 1,6 M 6x1
4007AA02 8,0 5,5 1,8 3,8 0,8 M 4x0,7 3135AA00 | 25,0 (10,0 | 4.1 7,0 1,6 M 6x1
4008AA02 | 10,0 | 55 1,8 3,8 0,8 M 4x0,7 3136AA00 | 30,0 | 10,0 | 4,1 7,0 1,6 M 6x1
0565AA00 | 10,0 7,0 2,8 5,0 1,0 M 4x0,7 3124AA00 | 15,0 (13,0 | 5,0 | 10,0 2,0 | M8x1,25
0566AA00 | 150 | 7,0 2,8 5,0 1,0 M 4x0,7 3125AA00 | 20,0 (13,0 | 50 | 10,0 | 2,0 | M8x1,25
0567AA00 | 20,0 7,0 2,8 5,0 1,0 M 4x0,7 3126AA00 | 25,0 (13,0 | 5,0 | 10,0 2,0 | M8x1,25
3130AA00 | 250 | 7,0 2,8 5,0 1,0 M 4x0,7 3127AA00 | 30,0 (13,0 | 5,0 | 10,0 | 2,0 | M8x1,25
3131AA00 | 30,0 7,0 2,8 5,0 1,0 M 4x0,7 3128AA00 | 35,0 (13,0 | 5,0 | 10,0 2,0 | M8x1,25
3132AA00 | 35,0 7,0 2,8 5,0 1,0 M 4x0,7 3137AA00 | 20,0 (16,0 | 6,0 | 12,7 2,2 | M10x1,5
0576AA00 | 10,0 | 8,5 3,3 6,0 1,4 M 5x0,8 3138AA00 | 25,0 |16,0 | 6,0 | 12,7 | 2,2 | M10x1,5
0577AA00 | 15,0 8,5 3,3 6,0 1,4 M 5x0,8 3139AA00 | 30,0 (16,0 | 6,0 | 12,7 2,2 | M10x1,5
0578AA00 | 20,0 | 8,5 3,3 6,0 1,4 M 5x0,8 3140AA00 | 35,0 |16,0 | 6,0 | 12,7 | 2,2 | M10x1,5

FLAT FILLISTER HEAD SCREWS
) MATERIAL
M@ fastpoint [ e
p DRAWN
R.F.
PART NUMBER DRAWING NUMBER COLOR CHECK
SEE TABLE  |21.05.11.31XX.0.E NATURAL

SIZE

SCALE

UNIT

mm.

REV

A

UNLESS OTHERWISE SPECIFIED

TOLERANCE S E E ABOVE

APPROVED




